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In thiz chapter we will deal with the questions
originnting on the sitting arrfangement

problcms We can sit in a line, in parallel lines
or in a circular manner,

pirections (1 - 5): Study the following inform-
ation carefully and anawer the questions:

ABC D, E,F,Gand H are sitting around
a circle, facing the centre. E and G always
sit next to each other. D sits third to the
right of C. F sits second to the left of H. C
never 8its next to A while D never sits next
to G. H is not the neighbour of D and C.

Who sits between A and D?

-
-

{1)B 2 F (3)C
{4) E (5) None of these

2.  Who sits second to the left of B?
(1) F @G 3) A
(4} E {5) None of these

3. Who sits to immediate right of F?

“ {1)D (2 C 31 B ;
{4} A (5) None of these

4.  Which of the [ollowing pmrs its b’
B and F?

(1) HB (2FD .
{4) GC (S) AH @

S. Four of the following a%e in a certain
way based on their s in the seating
arrangemcnt and_ a group. Which
is the one that[d#gs not belong to that
group? N, O
(1) CH W) BA (3} FE
(4) DG &h (5} AC

Sol. No@g all the, given arrangements

i or GE
E G

{ii) C. _D (2 places vacant between C and
D). :

SITTING ARRANGEMENT

(ilii)F _H (1 Place vacant between F and H).

Q/

(iv) C A (both can't be

Now, mark th wh:ch will never
be possible

e;%_w b

Q (v', mark F second left from H.

H
C
“ & b
H A
£

G and E are always together which is
possible only between C and D

g
H

A cannbt be near C. So, it has to be
between F and H.

H

C A

G g F
(v} G D {both can't be'together)
{vi} HD or DH (can never be together)

HC or CH (can never be together)
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Ans. 1. (2), 2.(3), 3.(4), 4.(5),5.(5)

Directions (6 - 8): Read of the following
information carefully to answer these
questions: :

The remaining character is B. It has to (i) EB
be near C,

£ B

(iii) Combining (i) & (ii) ﬁ@

(i) A, B, C, D and E are sitting along a
circle facing the centre.

(i1} C is neighbour of A and B.

(i) E is to the immediate left of B.

Which of the following is a false tﬁ’]%}rb in a suitable position

6.
statement? —- D
(1) E is to the immediate right of D r&y A
{2) D is second to the right of C @
(3) A is third to the right of E C E
{4} A is between C and D \,;/ c
(5) None of these B
7.  What is the position of D? ‘%‘
(1) To the immediate righ t@' Ans. 6.(5), 7.(2), 8.(3)
(2) Third to the right of ke
(3) To the immediat A l:f:;:;::i[’g; fli?)’l;:':::: ;l:f“:::::t: :;e;l:us:l;
(4) Second to the it carefully and answer the questions.
(S) None of the Eight cxecutives J, K, L, M, N, O, P, & O
8.  Which of th ng is true statement? are sitting around a circular table for a
(1)Aiss %ﬁ the left of B f‘neet-ing. J is second to the right of P who
(2) B i to the left of D :;:;fff :t? éhehrigl-gt of K. M is second to
{ ¥ ween A and ‘E ot a neighb:ruroo?;? (I)::_e;;qvfreen P&.J, Lis
5> ird to the right of E 9. Whois to the immediate left of L?
(5) Hone of these :
8ol. Read the statement carefully and note (e (2) o B K
down the important relations (4) N {S) None of these
(il ACBorBCaA 10. Whois to the immediate left of K?

St o ctermined
K 1 (4) Cannot be determined

(S) None of these
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12.

13,

Sol.

Which of the following is the correct position
of N?

(1) Second to the right of K

(2) Immediate left of K

{3) Immediate right of M

(4) Immediate right of K

{S) None of these

Who is third to the right of P?
(DL 2J 3)Q
(4N (5) None of these

Which of the following groups of persons

have the first person sitting between the
other two?

(1) PJO (2) OPJ (3) OPM
(4) MPO {S) None of these
Note down all the given arrangements nn.ationan
as:-
HP-J
\M
P
(fiyx--p

Ans. 9. (5), 10.

Vi) ¥Nor NE

{vii)

(4:. 12. (1), 13.(2)

¢ questions given below:

Directions (14 ?tudy the following info-

15.

16.

17,

18.

19.
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W, Fand H are sitting around
1f%lp. the Ccntre P is third to the left
d second to the right of T. N is

nd to the right of P. R is second to the

@ t of W who is second to the right of M.
i

s not an immediate neighbour of P.
Who is to the lrnmecllatc right of P?
(1) H [2) F (3} R
{4) Data inadequate
(5) None of these
Who is to the immediate right of H?
(1) R {2} F {3 M
(4) Data inadequate
(5) None of these
Who is to the immediate left of ?

(1) P (2} H W
M“aT .(5) Data inadequate
Who is third toithe right of H?
HT iaw (@R
4 F (5) Data inadequate

Who is second to the right of F?
(1M (2R 3T
(4) Data inadequate (S) None of these

In which of the following is the first person
sitting in between the second and the third
person?
(1) NHM
(4) TWF

(2} PHN (3) TRP
(5) None of these




Sol. (i) T-P--M

20,

21.

P

i) T-P-NM

P

fiii) M—-W-R

R

w

M
(iv) Combining step {ii) and (iii)

=

’Study the following
dnd answer the questions:
¥, G and H are sitting around
Mg the centre. A sits fourth to
i H while second to the leftof F. C

t the neighbour of F and B. D sits third
to right of C. H never sits next to G.

Which of the following pairs sit between H
and G?

(1) BH {2) EF (3)CE
(4)DB (5) None of these
Who sits second to the right of B?
(1) A Q¢ . 3D
(4 E (5) None of these

22.

24.

s

*is the one that does not belong to that

Which is the position of B with respect 15 ¢
(1) Second to the right
(i) Sixth to the left
(I11) Third to the left
{IV) Fifth to the right
(1) Only Il @
(2) Only Il and 111
(3) Only I and IV %A%,
(4) Data inadequate %@
(5) Both 11l and 1V 1(:’&%' S
fo 1?31 sits een
(3)H
te right of A?
(G
g
R4SyNoric of these

our of the following are alike in a certain
wa¥ based on their positions in the sitting
ngement and so form a group. Which

group?

(1) AE {2) HF (3) BD

(4) GE {5) CH

Sol. (i) H---A
A-F
W

A

c--b
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(ii)CF or FC or CB or BC (these
combinations will not be entertained)

FC%

(iv) G H (both cannot be together)



™

¢ G

(vi) Only two places are left. Which wil) only
be occupied by remaining members B

and E. B cannot be near C hence E will
be near C.

% F

D

15‘%

Directions {26 - 30): Study the;Jollowing

information carefully and swer the
guestion given below:

M, D, P, K, R, T and W aressjtting around

a circle facing the cgnl is second to

thiry to the right of K.

W who is not an

® the right of T?
(2) K (3 M

26.

27. InRyhich of the following pairs is the
second person sitting to the immediate

right of the first person?

29. Whois to the impy

30. Whois third to

lediate Jeft of MP
2w 3D
(S) None of these
the left of D7
(Hw (2) P

(3K
(4) Data inadequate

(K
(4)T

Sol. Step 1

(5) None of these @
Given statements e&&%’
@ P-D i) K %

DW x

i) w--7 '\Q\- x
(VJM--R ! os!

Step 2 Now start wi%p"second Statement
Step 3 Plot the cgmbinations

A . Q"

G @
: C
Ans. 20. {3), 21. (4), 22.(5), 23. (2}, 24. ‘z{:a
3) (4) {5) (2} ( \Q‘Wul

K
Ans. 26. {3}, 27. (4), 28. (1), 29. {(3), 30. (5)

Directions {31 - 35): Study the following
information carefully and answer the
questions given below:

Ten persons A, B, C, D, E, F, G, H, ] and
J, are sitting in two rows with five persons
in cach row in such a way that one person
in the first row sits exactly opposite and
facing a person in the second row.
Members of the first row are facing North.

B sits in the first row to the immediate
right of H who sits exactly opposite of D.
C is at the extreme end of second row and
is second to the left of D. A is to the
immediate right of D and exactly opposite
to F. G sits exactly opposite to E who is at

(1) bT (2) TP (3) PR one of the ends of the second row. J does
(4) KW (5) None of these not sit at the end.
28. Who is to the immediate left of R? 31. Who is second to the left of B?
nw (2P (3) K ntr 2 G {3y H
4T (5) None of these (4 F {5) None of these
67
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ey,

33,

34,

Stép 2 Start with any Row.

Which of the following pairs of persons are 36.

Who is second to the left of C?

witting at the two
() GJ o A (1) F () A (B
4) BJ (5) None of these a7 - D ) N?ne of these
Who sits exactly opposite to B? . Which of the following group of perg,
(J (2) 1 3G F;; ;fmthe S oy AC "
(1) A ) {3) None of these (4) HIG :51 Ncu?e of tl'(l:.::)sce:]:’1
Wheo is third to the left of E? 38. Who is to the immediate righ o4
(1) D 2)1 (3)H (nc (2) E
4)C {(5) None of these {49 A (5) None pf, thage
A sits between which of the following 39. Whois to the immCdia@éof J?
persons? ()1 (ZhC (3) E
{1} DJ (2) ED (3) FB 4B {5) Noni¥ of these
{4) BI (5) None of these 40. Who sits exact ,,;“- bsite of J?
Step 1 Note the given statements (1) H s " _ @) F
(i} First Row is facing North. (@ cC 5 (S5) None of these

Sol. Step i),

(i1} In first row HB and H & D(Opposite)

(iii) C is at extreme of second rowand C _D

(iv) D A and A < F(opposite)

fv)] G+« E {opposite) and E is at one end of
second row.

{vi) J does not sit at the end.

Wt eﬁe Statements
or D - - A and D G (opposite}

(1A -
%ﬁ' facing South

Qz(giﬂ-l --B and H © F (opposite)

JACEorECAandC « I(opposite)

* _. 2 Start with the second statement
*§tep 3 plot the arrangements

G

Step 3 Plot the arrangements
H J B
E A | l
2nd Row | | |
I
x : [
1st Row [ " F A C E D
G F Ans. 36. (1), 37. (4}, 38. (3], 39. (1), 40. (2}
Ans. 31. {4), 32.(3), Exercise:
YR - Directions {1 - 5): Study the following
Directions (36 -4Q):}Hese questions are information carefully and answer the
based on th spﬁa g information. Study it questions given below:
gunsWer the questions. A.B,C,D,E, F, Gand H are sittingaround
D is fourth to the

Sol®rs A, B, C, D, E, F, G, H, 1&J
QX to two teams X &Y of 5 members
2 in the two teams are made

W in two rows facing each other in such
a way that one member of team X is sitting
exactly opposite of a member in team Y. 1
Members of team X are facing North. D is
third to the right of A and sits exactly
opposite of G. B sits to the immediate ri ght
of G and is facing South. H is third to the
right of B and is exactly opposite of F. C
sits between A & E and is opposite of L.
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a circle facing the centre: »
right of H and second 1o the left of B. F 18
fourth to the right of B. C is fourth to the
right of E who is not immediate next to Bor
D. A is not an immediate neighbour of D-

What is B's position with respect to G?
(1) Third to the right

(2) Third to the left

(3) Fifth to the right

(4) Fourth to the left

(5) Fourth to the right
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Directions (6
information

i . binatj :
the thind person sitting in beyw ations is
and the second person®

(1) ABC {2)GeCp
() CBA (5) EFG
Who is third to the right of A?

{1} K QIE 3)F

(1) Data inadequate

{5) None of these

Who is to the immedinte left of D?

Q)G {QcC (3} F

{?) Data inadequate (S) None of these
Whao is fourth to the Jeft of G?

() E 2QF (3} A

(4) Data inadequate (S) None of these

= 11):'Study the following
carefully and answer the

(3) AHE

questions given below:

A, M, P,D,Q R, Wand B are sitting
around a circle facing at the centre. D is
fourth to the left of A who is third to the
right of M. P is third (o the left of Q who is

third to the left of M. R is third to the ﬁg@

of W who is second to the right of p*
Who is second to the left of D?

(Hhw (2) B (3)
(5) Node of these

(4) Data inadequate
Who is third to the Ieft of P

()M 2) D %

(4) Data inadequate ¥ one of these
Who is to the immedja® right of Q?

(1) W ' (3)B

(4) Data inadegu®y (S) None of these
ng pairs represents the

Which of
first am&

respectively to the right
of W?

(3) MR
(5) None of these

e
at¥inadequate
10. In Mfiich of the folowing pairs is the

11.

- )P

second person sitting to the immediate
right of the first person?

(1) MD (2 RM  (3) AB
(4) QB (5) None of these

Who is fourth to the right of R?

(2} A (3)B

(4) Data inadequate (5) None of these

on and answer the qQuestions which follow:
t)

K,LMNOPandQ itti
- M, N, Q, are sitting alon
a circular table facing the cen%rc. 8

(i) L sits between N and Q.
(iii) K is third to the left of O.

(iv) Qs second to the left of % is to
the immediate left of .

12. Which of the following paj has the first
person sitting to the imaficAjate left of the
sccond person?

(1) LO ) M@ (3) QN

(4) LN \w-lc of these

13. Which is thg corfect position of L with
respect of
(1) Sec t right

ird to the right
onte of these

%,Which of the following has the middle
person sitting between the other two?

(1) NQ? (2) PMK (3) POK
(4) MOP (5) None of these

(2)Firstag Yhe left
'..‘@, i%ﬁm the right

15. Who sits second to the left of L?
(1} P 2 M (3) K
(4) Q (5) None of these
16. Who sits between M and Q?
1} O (2) N (3) K
4L (3) None of these

Directions (17 - 22): Study the following
information carefully and answer the
questions given below:

P, A, D, Q, T, M, R and B are sitting around
a circle facing at the centre. D is third to
the left of T who is fifth to the right of P. A
is third to the right of B who is second to
the right of D. Q is second to the left of M.

Who is second to the right of M?

(1B (2) R @T

4 Q (5} None of these

Who is to the immediate right of D?

(1) M 2Q (3B

(4) Data inadequate {5) None of these

17.

18.
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19.

20.

21.

22,

Who is third to the right of P?

(1D (2) M (3R

(4i Data inadequate (S) None of these
Who is second to theleftof D ?

A (2 Q 3B

4) P (5) Data inadequate

In which of the [ollowing pairs the first
person is sitting to the immediate right of
the second person?
{1) DM (2} BT
{4 PQ {S} PA
Which of the following pairs represents the
immediate neighbours of A?

(1) PF (2) PB (3} TQ
(4) PD (5) None of these

(3) RA

Directions (23 - 28): Study the following
information carefully and answer the
questions given below:

23.

24,

25.

26.

27.

28.

A,B,C,D, E, F, G and H are sitting around
a circle facing the centre. H is fourth to
the left of and second to the right of F. A is
third to the left of C, who is not an

immediate neighbour of F. G is second
the left of A. D is second to the ﬁ%é%f

Who is on the immediate right of

(1) H A  B)G
(4) Data inadequate (S} N fthese
Who is third to the left of A

(1c (2) F

(4) Data inadequate None of these

In which of the fgllos pairs is the first

person sitting -_,-}' & mmediate left of the
second persong

(1) EH W) CE  (3) AF

(4) DB %’(5] None of these

following pairs represents the

Whic t
i neighbours of E?

H (2QHC (3)CA
{4) Data inadequate
Who is on the immediate right of H?
(1} E (2) C (3 H
(4) Data inadequate (S) None of these
Who is on the immediate right of B?
(1) D {2) E (3} F
(4) Data inadequate {S) None of these

(5) None of these ‘
34.  Which of the following is correct statement?

Directions {29 - 33): Study the followy,
information careéfully and answe, th
questions given below: ¢

M P J, B, R, Tand F are sitting arounq
circle facing the centre. B is third to the ‘E?l
of J who is second to the left of M. p jq thirg
to the left of B and second to the 4 tof R
T is not an immediate m:ighbq:;.H (M.
Who is fourth to the right ol',-ﬁ?_),
(B T ad

‘(4) Data inadequate

29.

Si™None of thess

30. Who is second 1h&;‘l&:i;yof'l‘?
() F %(2) M (3) P
4y J {5¥Data inadequate

31. Inwhich o%llowing pairs the secong
person ig.sit@gito the immediate right of
thefir :

(1} J {2) PJ (3) TR
;?fq\ﬁg’ (5) None of these
32. hat is F's position with respect to R?
, J&f Third to the left

(B} Fourth to the right

(C) Third to the right

(1) Only (A} {2) Only (B)

(4) Both (A) and (B)

(5) None of these

Who is third to the right of B?

(1) R 2)J (3) M

(4) Data inadequate (S) None of these

Directions (34 - 38): Study the information
given below and answer these guestions:

i P,Q,R,S, T, UandV are sitting along
a circle facing the centre.

(if) Pis between V and S.

(iii) R who is second to the right of S, is
between Q and U.

{iv) Q is not the neighbour of T.

(3) Only (C)

33.

(1) Vis between Pand §
(2) S is second to the left of V
(3} R is third to the left of P

{(4) Pis to the immediate left of S
{5) None of these

70



| w0

39.

(1} R 2} W T

49s (5) l‘@of these
40. Who is to the im e left of S?

(v {3 Q

aw None of these
41. Whoist mediate right of R?

nw 2T 3) P

adequate
one of these 49,

42. WhWh of the following groups is the first

person sitting between the second and the

third person?

(1) RPQ (2) TWS (3) QPR

(4) Qvs (5) None of these 50,
43. Whois third to the left of V?

nT (2) s (BYW

(4} R (5} None of these

71

i &)
-

36,

a7.

38.

What in the position of T? Dire @

ctions - . -
(1) Between R and V rmation {44 :.:xll 8tudy the following info. %
(2) Immediate left of V A.B,C,D,E, P‘(”;‘;W;t}l:cmnm g
{3} Sccond to the left of R 8N around a e .o C C8ht friends 1'%

(4) Second to the right of P
{5) None of these
Who iy between R and Up

J circular table facing t
centre, A sits second to thc’!eﬂ: of Dngg

18 third 1o the Jeft of B i i
3 - C sits th
right of G who is not ap irr:rd i

4 ’ diate
neighbour of E, H sits third tnﬂ'%ht of

RSP

(1) None (28 (v B v/ho sits second 10 the ighalpf €
(4)Q (3) None of these 44. Who sits between D and %’ '
Which of the following is wrong statement? {t) Only B {2} Only A r
{1) Ris 10 the immedinte left of U {3) Only C (4) 0 t |
(2) Q is to the immediate left of R (5} Only G and Iy
(3) T s third (o the right of O 45. Who sits secordl to th&right of E? e
(4) Uis second to the left of T :1: g 5 (3) G {
(5) None of these ) None of these 4
a6, i - :
Which of the following pairs has second :ﬁ:::;;ll'sth " 4 :ofhwnh respect to H? K
member sitting to the immediate right of l - =
the first member (21% the right {';:
(1 Qs (2 PV (3 RU Lo o thelet &
(4) VT {S) Nonc of these 5 ourl:h t-‘;)lh: l:gh s
Directions (39 - 43): Study the following Qur of the following five are alike based

information carefully and answer the
questions given below:

circle facing the centre. Vis seco oth
left of P and second to the right o .ﬂ%

third to the right of Q anmot an o

immediate neighbour of V. g9 ird to
the right of R,
Who is second to the n@ ?

P,Q,R, S, T, Vand W arc sitting fd@
t

?b'upon their seating arrangements and so

Directions {49 - 53); Study the following
information carefully and anawer the
questions given below:

AN

forrn a group. Which is the one that does
not belong to that group?
(1) CH {2) FG

(4} BE {S) GB
Which of the following pairs has the
second person sitting to the immediate left
of the first person?

(1) DB (2JEH  (3) FA

(4) GD {5) None of these

{3} DA

B R Tt
-_,_1‘\‘1“ .\. vy

(7= XY

i

P,Q,R,S,T, U, Vand W are sitting around
a circle facing the centre. T is second to the
left of P and third of the right of V. § is second Bl
to the right of W who is to the immediate o8
right of T. Q is third to the right of U. i
In which of the following pairs is the third
person sitting in between the first and the

second persons?

(1) USP (2) VRU (3) TQW
(4) WPS (5) None of these
Who is to the immediate left of T?
naQ (PIR (3)R
{(4) Data inadequate
{5) None of these

B ‘ D 8 [ N: _'\_'

e WL R AP N RN Y




S1. Whois second {0 the right of P?
(s Qv 3)U
HQ (5) Data inndequate

852. Whatis R's position with respect to W?

(1) Third to the left

(2) Fourth to the left

{3) Sixth to the right

{#) Fifth to the left

(5) None of these

Who is fourth to the left of R?

(HYU ()P (3}S (4} W (5) Nonc of these
Directions (5S4 - 55): Study the following

information carefully and answer the
questions given below;

Six friecnds P, Q, R, S, T and U are standing
in a row, Q is exactly in between U and S.
T is standing in between P and R. Pis not
a neighbour of S and U. R is not a
neighbour of S.

53.

54. U is standing in between which of the
following pair? .
(1) Qand R 2)Qand S8 (3)Qand P
(3} Rand P {S) None of these

55.

R is standing in between which(ﬂ\t _

following ?
(3) 'l"ngb'f

(1)Sand U (2) Tand Q

(3) Pand T  (5) None of th%
Directions (56 - 60): Study t ollowing
information carefully and answerthe fuestions
given helow:

Six friends A, B, C, D

rows, each row havi

cach otherand s such a way that-

(i} F is secon right of C.

(ii) A is at of a row.
(iii) E is bour of B.
ivi Cji y in front of B.

e following pair is not facing

F are in two
ee friends facing

S6.
o

(1)

4)

(2)C,B (3)E, D

y A (S) None of these

S$7. Which of the following statement is true? 64.

{1} A is second to the left of C.

(2) E is to the left of B.
BlCMBamdhgxmﬂyq:positcto& other.
(4) D is to the right of A,

(5) None of these

62,

63,

58. Which of the follovdngy People are Stapy,
oppuosite 1o each other 2 o
(MHaB (2D, E (e,

(4) A, DD {5) Hene of thirne

59. Which of the lullowing aue Bbanding iy, 4, ferar)
(WA, Bond P (2)E, B2and A
(B)A, Cand E  (4) 15, ¥ uned '}.f‘%

(5) Nonc of thenc &y

60. If A and B exchange their }t?‘m ith sy,
other, who will be cxscfVy 8t of s
(1) D NV, &) ¥
(4) C {15) Hone of thene

Dircctions {61 - ﬁﬁlg,g_ dy the followlnt
information ca{eful(y and answer tp,
questionn glvm;: _I_J;!g,w:

() A B2 D7 Bland T are standing in ,
& roA:facifSouth.

Aot hird 1o the right of E,

(ii%? 1
A]‘i ‘_i)%n{fourth from one end of the row,

Qi\?)}t; who is in between A and D, in third
~/  to the right of ‘T.

Which pair of the following is at the two
ends of the row?

(DDandC  (2)Aand £

{(3) Tand D [4) Tand E

(S) None of these

What is the position of E?

{1) Immediatc right of T

(2) Right end of the row

(3} Fifth to the lefl of D

(3) In between C and T

(5) None of thesc

Which of the following is truc?
(1) A is immediate left of C

(2} E is immediate right of T
(3) C is in between T and E

(4) C is sccond to the right of B
(5) None of these

Which of the following is not truc?
(1) D is immediate left of B

(2) D is at one end of the row
(3) E is at one end of the row
(4) Aand C are ncighbours

{S) There is no onc between C and T
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65.

nhowN -

3

1
2
3;
1;

Which of the follwoijn
members standing n

()D,Band A, T
(2)A,BandE, T
(3)A,Cand E, D
(4)E,Cand T, C
(5} None of these

Answers with Explanation:.
(1 - 5): Sitting Arrangement

(6 11):

12. 4
14. 2

M

g pair representy t
ear each other?

; Bis third to the Eight of G.

; D is sitting between G and C.
F is third to right of A, r rjg':

; G is to the immediate left of D. @

; A is fourth to the left of G.

Q/@

P
13. 5 (2™ from left)

15.1

16. 3

73

wo (17 - 22);

Af@

17,3 18.1 19,2 204 9¢ oy

(23 - 28):

2332‘@’3 25,1

22.5; Pand Rare lmmrr!lulﬁgul Whonurn of A,

20,2 27.1

8, 59 i(mawcr s Q)

34. 4
(39 - 43):

39.

1

35.2

40. 4

P
J
R
T

29.5(Ans. isR) 30.1 31.3 32.4 33.2
(34 - 38):

3.1 37.4 38.3

41.2 42.5 43.1



(44 - 48):

44.1 45.2 46.4

47.3; In all others, the second person is sec-
ond to the right of the first. ‘

61.5(Dand #

48.5 62.3 63 1 65.2
(49 - S3):
R
Q v
T U
s
P
(54 - 58):

49.5 50.151.3 52.1

S

&

74




